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The expression [image: image1.png]1-sin’x
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 is equivalent to
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	2)
	[image: image2.png]




	3)
	[image: image3.png]COSX





	4)
	[image: image4.png]






2
The expression [image: image5.png]1-cos’x
sin’x



 is equivalent to
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If [image: image9.png]sind =k



, then the value of the expression [image: image10.png](sind)(cosA)(tand)



 is equivalent to
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The expression [image: image13.png]sin’4
tand




is equivalent to

	1)
	[image: image14.png]sind
Cosd






	2)
	[image: image15.png]sindcos A





	3)
	[image: image16.png]snAcosA





	4)
	[image: image17.png]cosd
sind








5
The expression [image: image18.png]Sx-cosx
tanx



 is equivalent to
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A crate weighing w pounds sits on a ramp positioned at an angle of [image: image22.png]


 with the horizontal.  The forces acting on this crate are modeled by the equation [image: image23.png]Mw cos 8= wsin &



, where M is the coefficient of friction.  What is an expression for M in terms of [image: image24.png]


?

	1)
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	2)
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Show that [image: image29.png]sec @sin Ecot &= 1



 is an identity.
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For all values of [image: image30.png]


 for which the expressions are defined, prove the identity:

[image: image31.png]tan &+ cot &= sec Ecsc &
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Prove that the equation shown below is an identity for all values for which the functions are defined:  [image: image32.png]csc & sin? 8- cot 8= cos 8
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For all values of [image: image33.png]


 for which the expressions are defined, prove that the following is an identity.  [image: image34.png]sec 8- sin & tan &= cos &
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For all values of x for which the expressions are defined, prove the following is an identity:  [image: image35.png]sec’x+ csc’x = (tanx + cotx)?
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For all values of [image: image36.png]


 for which the expressions are defined, prove the following is an identity:  [image: image37.png](cot &+ csc &l —cos & = sin &
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Express in simplest terms: [image: image38.png]
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For all values of x for which the expressions are defined, prove that the following is an identity:  [image: image39.png]cosx+cotx
T+cscx
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For all values of [image: image40.png]


 for which the expressions are defined, prove the identity:

[image: image41.png]2
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For all values of x for which the expressions are defined, prove the following equation is an identity:  [image: image42.png]
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Prove the following is an identity for all values of [image: image43.png]


 for which the expressions are defined:  [image: image44.png]it
Tig+ s = sec
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Prove the following identity:  [image: image45.png]tan &
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For all values of x for which the expressions are defined, prove that the following is an identity:  [image: image46.png]Secx+csex
tanx + cotx

sinx+ cosx
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For all values of [image: image47.png]


 for which the expressions are defined, prove the following is an identity:  [image: image48.png]tan &-cot &
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For all values of [image: image49.png]


 for which the expressions are defined, prove the following is an identity:  [image: image50.png]cos &sin &+ cos &

= = tan &+ sec 6
cos?@





22
Prove the following identity:  [image: image51.png]sing  l+cosé
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For all values of [image: image52.png]


 for which the expressions are defined, prove that the following is an identity:  [image: image53.png](cos 6+ sin &

T Tem Bor - ©oF Btan Besc 6
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For all values of [image: image54.png]


 for which the expressions are defined, prove that the following is an identity:  [image: image55.png]sin &+ tan &
tan &

cos E(cos 6+ 1)+ sin’
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